Gm u und A des Parallelogramms L
h h
s b
S a
u=4.s u=2(a+b)
S u a b u
a |30 cm | 120 em g| 20cm |15 cm| 70 em
b | 18ecm | 60 cm h 3m 2 m (100 dm
c |1, 2dm| 48 em i| 8lem (14 cm| 9 dm
d|428m | 17m j| 16m [(95m| 81 m
e | 2,8m | 11,2 m k (17,25 m|85 dm| 1.8 m
f 2% cun 8,8 dm 1 11 e |65 mm| 35 cm
A=s.h A=a.h
S A a h A
m 30 cm |ummn glich 20 cm 15cm | 300 cm2
n |(unm glich | 196 cm2 t 2m B cm 10 dm?
o 1,2dm |unm glich | u 8 m 3 cm 9 dm?2
p |umm glich | 169 m?2 v 99 m 9m 391 m?
q 2,8m |unm glich | w | 17,25 m 5dm |88,28 m?
r |[oammm glich 1 dm? X B0 ecmn 7 mm 35 cm?

© BS.



